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LO: To use knowledge of 10 times tables to solve multiplication questions.

Fill in the missing parts on this number track.

0 10

20

40

50

60

Match the number sentence to the answer

L x 10

| x 10

9x 10

10

90

Il
O

Work out the answer to these number sentences

2 x 10 =
6 x 10

5x10=___

Ox10=__

8xI10=___
3x10=___

Which is the odd one out? Explain why.

010 10
y W W
010 10 100 IIIIIII 0 x 10
W W
O 10 10
J J J

The odd one out is because. . ..




O
LO: To use knowledge of 10 times tables to solve multiplication questions.

Fill in the missing parts on this number track.

20

Whrite the number sentences shown bg the pictures

OO0 O
0,10, 10,10, -

O
0)10) 10 ®
S O

0 10 4O 50 60

O

O 30
OO 10 10 10
QO

QO
QO
Qo

X = X = X =

Match the number sentence to the answer

- x 1O O

| x 10 90

9x 10

Il
O

Work out the answer to these number sentences

2 x 10 = 5x10=__ 8x10=__
6 x 10 Ox10=___ 3x10=__



I have twice
as much money
as Ted::lg_

I have ﬁue times
as much money
as Te::ldy.

I have ten times
as much money

‘@ (@)
. as Dora.
@ T —

How much does each child have?

Look at this Venn diagram. Numbers that belong to both groups go in

the middle. Can you, add your own, numbers to each of the groups.

In the 5 times tables In the 1O times tables

35

Extra:

Can you make your own venn dLagmm for numbers in the 10 and 2 times tables.




